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QUESTION 1

A route calculation for a car navigation system has been developed using the following state table: How many test
cases are needed to achieve 0-switch coverage? [K3] 2 credits 

A. 3 

B. 6 

C. 7 

D. 12 

Correct Answer: B 

 

QUESTION 2

You are starting to review some of the incident reports that have been submitted as a result of test execution. 

Which THREE of the comments would be your main findings when you have reviewed the following incident report? [K4]
3 credits, 2 out of 3 correct 1 credit 

A. Should have been two defect reports 

B. Ambiguous description 

C. Both severity and priority do not make sense 
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D. Actual cause is missing 

E. Reproducibility is not indicated 

F. Defect type is missing 

G. Date to be fixed not defined 

Correct Answer: ABE 

 

QUESTION 3

Which of the following statements is TRUE with respect to when the test analyst should become involved during
different lifecycle models? [K2] 1 credit 

A. In a sequential V-model project the test analyst should start test analysis and design concurrently with coding 

B. In Agile projects the test analyst should start test analysis and design concurrently with coding 

C. In a sequential model project the test analyst should start test analysis and design concurrently with software design 

D. In an embedded iterative model the test analyst should expect to be involved in the standard planning and design
aspects 

Correct Answer: D 

 

QUESTION 4

You are working as a tester on a project to develop a point-of-sales system for grocery stores. Which of the following is
a product risk that could be identified for such a system? [K3] 2 credits 

A. The arrival of a more reliable competing product on the market 

B. Delivery of an incomplete test release to the first cycle of system test 

C. An excessively high number of defect fixes fail during re-testing 

D. Failure to accept allowed credit cards 

Correct Answer: D 

 

QUESTION 5

Based on the classification tree show below, how many test cases are required using the classification tree method? 
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[K3] 2 credits 

A. 2 

B. 3 

C. 4 

D. 6 

Correct Answer: B 
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